La soustraction

T

45 2 =
34 3 =
8 1 1 =
18 4 =
92 2 =
2 6 5 =
5 3 1 =




La soustraction

-~

2 6 1 -
8 7 5 -
42 2 -
34 4 -
71 1 -
69 2 -
15 3 -




La soustraction

—-=

13 1 -
47 6 -
8 5 4 -
6 2 2 -
9 8 3 -
31 1 -
5 2 1 -




La soustraction

-

85 4 =
37 3 =
2 4 1 =
58 5 =
9 3 2 =
46 2 =
79 V4 =




La soustraction

-

9 7 4 -
76 6 -
2 8 3 -
5 4 1 -
49 8 -
65 5 -
13 2 -




La soustraction

-

75 3 -
9 1 1 -
6 8 5 -
19 9 -
2 3 2 -
4 4 4 -
8 7 6 -




La soustraction

-

12 1 =
9 8 7 =
75 3 =
6 6 4 =
8 4 3 =
2 3 1 =
59 9 =




La soustraction

T

67 6 =
49 8 =
32 2 =
2 3 1 =
56 2 =
71 1 =
14 3 =




La soustraction

T

45 2 =
77 7 =
36 5 =
2 2 1 =
5 4 2 =
91 1 =
6 2 2 =




La soustraction

-

38 6 =
66 4 =
14 3 =
5 1 1 =
8 3 3 =
45 2 =
79 8 =




La soustraction

-

7 4 1 -
2 5 4 -
31 1 -
8 7 5 -
99 4 -
13 2 -
5 8 6 -




La soustraction

T

35 3 =
2 4 1 =
69 7 =
96 2 =
42 1 =
8 7 3 =
18 5 =




